## M.S. A.Hussein

Ministry of Higher
Education \& Scientific
Research Scholarships \&
Cultural Relationships
Directorate
Baghdad - Iraq.
mushtdma8@yahoo.com

Received on: 13/08/2017
Accepted on: 13/09/2017

## Certain Classes of Univalent Functions Associated With Deferential Operator


#### Abstract

The main objectives of this research work is to present and investigate the certain subfamily of Bazilevic functions by making use the differential operator which generalize of many operators presented by several authors, we have discussed and estimated on the coefficient bounds for this subfamily of functions introduced here and derived some interesting properties. In addition, Consequence of the results known or new is indicated through this work.


Keywords Analytic function, Univalent function, Bazilevic function, Coefficient bounds.

How to cite this article: M.S.A.Hussein, "Certain Classes of Univalent Functions Associated With Deferential Operator" Engineering and Technology Journal, Vol. 35, Part B, No.2, pp. 173-177, 2017.

## 1.Introduction

Suppose that $A$ represent the family of functions $f(z)$ which has the following formula
$f(z)=z+\sum_{n=2}^{\infty} c_{n} z^{n}, 1$
It can be investigative in the open unit disc $\{D=|z|<1\}$ and standardized such that $f(0)=f^{\prime}(z)=1$. Suppose that $A^{\rho}$ is the family of the functions $f$ which has the formula

$$
\begin{equation*}
f(z)^{\rho}=\left(z+\sum_{n=2}^{\infty} c_{n} z^{n}\right)^{\rho} \tag{2}
\end{equation*}
$$

By using binomial expansion for the equation (2) we have
$f(z)^{\rho}=z^{\rho}+\sum_{n=2}^{\infty} c_{n}(\rho) z^{\rho+n-1}$
For function $f \in A^{\rho}$, we define an operator $D_{\mu, \rho}^{m, \delta}: A^{\rho} \rightarrow A^{\rho}$ such that:
$D_{\mu, \rho}^{0, \delta} f(z)^{\rho}=f(z)^{\rho}$
$D_{\mu, \rho}^{1, \delta} f(z)^{\rho}=D_{\mu, \rho}^{0, \delta}\left(\frac{\mu-\delta \rho+\rho}{1+\rho}\right)+\left(D_{\mu, \rho}^{0, \delta} f(z)^{\rho}\right)^{\prime} \frac{\delta \rho}{l+\rho}$
$=z^{\rho}+\sum_{n=2}^{\infty}\left(\frac{\mu+\rho+\delta(n-1)}{1+\rho}\right) c_{n}(\rho) z^{\rho+n-1}$
and
$D_{\mu, \rho}^{2, \delta} f(z)^{\rho}=z^{\rho}+\sum_{n=2}^{\infty}\left(\frac{\mu+\rho+\delta(n-1)}{1+\rho}\right)^{2} c_{n}(\rho) z^{\rho+n-1}$
and in general
$D_{\mu, \rho}^{m, \delta} f(z)^{\rho}=z^{\rho}+\sum_{n=2}^{\infty}\left(\frac{\mu+\rho+\delta(n-1)}{1+\rho}\right)^{m} c_{n}(\rho) z^{\rho+n-1}$,
where $\quad m \in M_{\circ}, \mu \geq 0, \rho>0, z \in D$
We introduce the subfamily involving family of

Bazilevic functions by using the above operator.
I. Definition

Suppose that $H_{m}^{\rho}(\rho, \gamma, \delta, \mu)$ is considered as the subfamily of $A$ containing of functions $f(z)$ which has been holds true to the following condition

$$
G\left(\frac{D_{\mu, \rho}^{m, \delta} f(z)^{\rho}}{\left(\frac{l+\rho+\delta(n-1)}{1+\rho}\right)^{m} z^{\rho}}\right)>\gamma
$$

where
$\delta, \mu \geq 0, \rho>0$ ( $\rho$ is real), $m \in Z, 0 \leq \gamma<1$.
We now obtain some properties of operators by using the above definition
II. Remark
(i) for $\mu=0, \delta=0$ in (3), we get
$D_{\rho}^{m} f(z)^{\rho}=z^{\rho}+\sum_{n=2}^{\infty}\left(\frac{\rho+n-1)}{\rho}\right)^{m} c_{n}(\rho) z^{\rho+n-1}$,
Where
$\rho>0, m \in M$. This operator have been given by Olatunji and Ajai [1].
(ii) for $\rho=1$ in (3), we obtain
$D^{m} f(z)=z+\sum_{n=2}^{\infty}\left(\frac{\rho+\delta(n-1)+\mu}{\mu+1}\right)^{m} c_{n} z^{\rho}$
where $\rho>0, m \in M$. Oladipo and Olatunji have been studied the above operator [2].
(iii) for $\rho=1, \mu=0$ in (3), we get
$G\left(\frac{D^{m, \delta} f(z)}{(\mu+\delta(n-1))^{m} z}\right)>\gamma$
Where $D_{\delta}^{m}$ is derivative operator of Al-Oboudi,
$H_{m}(\delta, \gamma)$ is called new subfamily of Bazilevic function, such that $f \in H_{m}(\delta, \gamma)$
(iv) for $\mu=0, \delta=1, \rho=1$ in (3), we have $G\left(\frac{D^{m} f(z)}{c^{m} z}\right)>\gamma$

It is describe as the family of functions considered by references [3] and [4], and the derivative operator $D^{m}$ is due to Salagean, that is $f \in H_{m}(\gamma)$
(v) for $\mu=0, \rho=1, \delta=1, m=0, \gamma=0$ in (3), we have

$$
G\left(\frac{D^{0} f(z)}{z}\right)>\gamma \equiv G\left(\frac{f(z)}{z}\right)>0 .
$$

Yamaguchi in [5] has been studied the above family of function $f \in H(0)$
We need auxiliary lermma to prove our main results for the functions $f \in H_{m}^{\rho}(\rho, \gamma, \delta, \mu)$ in terms of an analytic function in the unit disk $D$.
III. [6] Lemma

A function $g(z) \in F H_{m}^{\rho}(\rho, \gamma, \delta, \mu)$ satisfies the conditions: $G[g(z)]>0,(z \in X)$,
iff

$$
g(z) \neq \frac{\psi-1}{\psi+1},(z \in X, \psi \in C,|\psi|=1)
$$

## 2. Coefficient inequality for the family

 $H_{m}^{\rho}(\rho, \gamma, \delta, \mu)$In this section, we give some results that will be used in proving our main result.

## I. Lemma

A holomorphic function $f(z)$ as shown with $H_{m}^{\rho}(\rho, \gamma, \delta, \mu)$ iff
$1+\sum_{n=2}^{\infty} A_{n} z^{n-1} \neq 0$,
where

$$
A_{n}=\frac{\psi+1}{2(1-\gamma)}\left(\frac{\mu+\rho+\delta(n-1)+\mu}{\mu+\rho}\right)^{m} c_{n}(\rho)
$$

Proof: Let
$g(z)=\frac{\frac{D_{\mu, \rho}^{m, \delta} f(z)^{\rho}}{z^{\rho}}-\gamma}{(1-\gamma)}$,
which yields

$$
g(z)=\frac{D_{\mu, \rho}^{m, \delta} f(z)^{\rho}-\gamma z^{\rho}}{(1-\gamma) z^{\rho}}
$$

By using Lemma 2.1,we get
$g(z)=\frac{D_{\mu, \rho}^{m, \delta} f(z)^{\rho}-\gamma z^{\rho}}{(1-\gamma) z^{\rho}} \neq \frac{\psi-1}{\psi+1}$
From (4) we obtain
$(\psi+1)\left[D_{\mu, \rho}^{m, \delta} f(z)^{\rho}-\gamma z^{\rho}\right] \neq(\psi+1)(1-\gamma) z^{\rho}$
That is
$D_{\mu, \rho}^{m, \delta} f(z)^{\rho}-\gamma z^{\rho}+\psi D_{\mu, \rho}^{m, \delta} f(z)^{\rho}-\psi \gamma z^{\rho} \neq(\psi-\psi \gamma-1+\gamma) z^{\rho}$
$z^{\rho}+\sum_{n=2}^{\infty}\left(\frac{\mu+\rho+\delta(n-1)}{l+\rho}\right)^{m} c_{n}(\rho) z^{\rho+n-1}-\gamma z^{\rho}$
$+\psi\left[z^{\rho}+\sum_{n=2}^{\infty}\left(\frac{\mu+\rho+\delta(n-1)}{\mu+\rho}\right)^{m} c_{n}(\rho) z^{\rho+n-1}\right]$
$-\psi \gamma z^{\rho} \neq \psi z^{\rho}-\psi \gamma z^{\rho}-z^{\rho}+\gamma z^{\rho}$
$2 z^{\rho}-2 \gamma z^{\rho}+(\psi+1) \sum_{n=2}^{\infty}\left(\frac{\mu+\rho+\delta(n-1)}{\mu+\rho}\right)^{m} c_{n}(\rho) z^{\rho+k-1} \neq 0$
Yields
$2(1-\gamma) z^{\rho}+(\psi+1) \sum_{n=2}^{\infty}\left(\frac{\mu+\rho+\delta(n-1)}{\mu+\rho}\right)^{m} c_{n}(\rho) z^{\rho+n-1} \neq 0$

Dividing equation (5) by $2(1-\gamma) z^{\rho}$ we get
$2+\frac{(\psi+1)}{2(1-\gamma)} \sum_{n=2}^{\infty}\left(\frac{\mu+\rho+\delta(n-1)}{\mu+\rho}\right)^{m} c_{n}(\rho) z^{\rho+n-1} \neq 0$
This proves Lemma 2.1.
Setting $\delta=1, \mu=0$, in the above Lemma, the following results can be obtained
II. Corollary

A holomorphic function $f(z)$ as shown by family
$H_{m}^{\rho}(\rho, \gamma, \delta, \mu)=H_{m}^{\rho}(\rho, \gamma)$ if
$1+\sum_{n=2}^{\infty} A_{n} z^{n-1} \neq 0$,
Where
$A_{n}=\frac{(\psi+1)}{2(1-\gamma)}\left(\frac{\rho+n-1}{\rho}\right)^{m} c_{n}(\rho)$
Which has been satisfying for the family of functions considered in references [3] \& [4]. Setting $\delta=1, \rho=1, \mu=0$ in Lemma 2.1, we get
III.Corollary

Suppose that $f(z)$ be a holomorphic function in the family $H_{m}^{\rho}(1, \gamma, 1,0)=H_{m}^{\rho}(\gamma)$ if
$1+\sum_{n=2}^{\infty} A_{n} z^{n-1} \neq 0$,
Where
$A_{n}=\frac{(\psi+1)}{2(1-\gamma)} n^{m} c_{n}(1)$
Also if $\delta=1, \mu=0 \quad \gamma=0$ in Lemma 2.1, we get IV.Corollary

Let $f(z)$ as used in the family $H_{m}^{\rho}(0,0,1,0)=$
$H_{m}^{\rho}(0) \equiv F_{m}(\rho)$ iff
$1+\sum_{n=2}^{\infty} A_{n} z^{n-1} \neq 0$,
where
$A_{n}=\frac{\psi+1}{2}\left(\frac{\rho+n-1}{\rho}\right)^{m} c_{n}(\rho)$.
Which satisfying for the subfamily of functions considered in [7].

Setting $\delta=1, \mu=0 \quad m=0$ in Lemma 2.1 we obtain.

## V. Corollary

Suppose that $f(z)$ as used in the family $H_{m}^{\rho}(\rho, \gamma, 1,0)=H_{0}^{\rho}(\rho, \gamma)$ if
$1+\sum_{n=2}^{\infty} A_{n} z^{n-1} \neq 0$,
where
$A_{n}=\frac{\psi+1}{2(1-\gamma)} c_{n}(\rho)$
Setting $\delta=1, \mu=0 \quad m=1$ in Lemma 2.1 we obtain.
VI.Corollary

Holomorphic function $f(z)$ was describe by the family $H_{m}^{\rho}(\rho, \gamma, 1,0)=H_{m}^{\rho}(\rho, \gamma)$ iff
$|\psi|\left|\sum_{t=1}^{n}\left[\sum_{j=1}^{t}(-1)^{t-j}(\mu+\rho+\delta(j-1))^{m} c_{n}(\rho) b_{t-j} q_{n-t}\right]\right| \leq$
$2(1-\gamma)(\mu+\rho)^{m}$
Proof: Firstly, we obvious that $(1-z)^{\eta} \neq 0$ and
$(1+z)^{\alpha} \neq 0 \quad(z \in D, \eta, \alpha \in G)$
Hence, if the following inequality

$$
\begin{aligned}
& 1+\sum_{n=2}^{\infty} A_{n} z^{n-1}(1-z)^{\eta}(1+z)^{\alpha} \neq 0, \\
& (z \in D, \eta, \alpha \in G)
\end{aligned}
$$

Satisfying, then we get $1+\sum_{n=2}^{\infty} A_{n} z^{n-1} \neq 0$
It is clear that (6) is corresponding to where

$$
F_{n}=\sum_{j=1}^{\infty}(-1)^{n-j} A_{j} b_{n-j}\left(\sum_{n=0}^{\infty} q_{n} z^{n}\right)
$$

Hence, by applying the similar technique for the Cauchy product again by formula (8), we find that

Setting $\delta=1, \mu=0 \quad m=0$ in Lemma 2.1 we obtain.
VII. Corollary

Let $f(z)$ as used in the family $H_{m}^{\rho}(0,0,1,0)=$
$H_{m}^{\rho}(0) \equiv F_{m}(\rho)$ iff
$1+\sum_{n=2}^{\infty} A_{n} z^{n-1} \neq 0$,
where
$A_{n}=\frac{\psi+1}{2}\left(\frac{\rho+n-1}{\rho}\right)^{m} c_{n}(\rho)$
Which satisfying for the subfamily of functions considered in [7].
$1+\sum_{n=2}^{\infty} A_{n} z^{n-1} \neq 0$
Where
$A_{n}=\frac{\psi+1}{2(1-\gamma)}\left(\frac{\rho+n-1}{\rho}\right) c_{n}(\rho)$
By using Lemma 2.1, the following theorem will be proved

## 3.Main Results

I.Theorem

If an analytic function $f(z)$ contents the following condition:
$\sum_{n=2}^{\infty}\left(\sum_{t=1}^{n}\left[\sum_{j=1}^{t}(-1)^{t-j}(\mu+\rho+\delta(j-1))^{m}\binom{\eta}{t-j} c_{j}\right]\binom{\alpha}{k-t}\right)$

Then, $f$ in the family $H_{m}^{\rho}(\rho, \gamma, \delta, \mu)$
$\left(1+\sum_{n=2}^{\infty} A_{n} z^{n-1}\right)\left(\sum_{n=0}^{\infty}(-1)^{n} b_{n} z^{\eta}\right)\left(\sum_{n=0}^{\infty} c_{n} z^{n}\right) \neq 0$,
where $b_{n}=\binom{\eta}{n}$ and $c_{n}=\binom{\alpha}{n}$
The following result was given since the Cauchy product and the first two factors were reported as
$\left(1+\sum_{n=2}^{\infty} F_{n} z^{n-1}\right)\left(\sum_{n=0}^{\infty} q_{n} z^{n}\right)$,
(8)
$1+\sum_{n=2}^{\infty}\left(\sum_{t=1}^{n}\left[\sum_{j=1}^{t}(-1)^{t-j} A_{j} b_{t-j}\right] q_{n-t}\right) z^{n-1} \neq 0$

$$
(z \in D)
$$

Thus, if $f(z) \in A$ satisfies the condition $\sum_{n=2}^{\infty}\left(\sum_{t=1}^{n}\left[\sum_{j=1}^{t}(-1)^{t-j} A_{j} b_{t-j} c_{j}\right] q_{n-t}\right) \leq 1$
Therefore, if
$\left.\frac{1}{2(1-\gamma)(l+\rho)^{m}} \sum_{n=2}^{\infty} \right\rvert\, \sum_{t=1}^{n}\left[\sum_{j=1}^{t}(-1)^{t-j}(\mu+\rho+\delta(j-1)]^{m} c_{n}(\rho) b_{t-j}(\psi+1) q_{n-t} \mid\right.$
$\left.\leq \frac{1}{2(1-\gamma)(l+\rho)^{m}} \sum_{n=2}^{\infty} \right\rvert\, \sum_{l=1}^{n}\left[\sum_{j=1}^{t}(-1)^{t-j}(\mu+\rho+\delta(j-1)]^{m} c_{n}(\rho) b_{t-j} q_{n-t} \mid+\right.$
Which is equal to (6). This finalizes the proof:
Setting $\delta=0, \mu=0 \quad$ in Theorem 3.1, the following results can be observed:
II. Corollary

If an analytic function $f(z)$ satisfies with the inequality
$\sum_{n=2}^{\infty}\left|\sum_{t=1}^{n}\left[\sum_{j=1}^{t}(-1)^{t-j}(\rho+j-1)^{m} c_{n}(\rho) b_{t-j}\right] q_{n-t}\right|+$
$|\psi| \sum_{t=1}^{n}\left[\sum_{j=1}^{t}(-1)^{t-j}(\rho+j-1)^{m} c_{n}(\rho) b_{t-j}\right]^{m} q_{n-t} \mid \leq 2 \rho^{m}(1-\gamma)$
Then $\quad f(z) \in H_{m}^{\rho}(\rho, \gamma, 1,0) \equiv H_{m}^{\rho}(\gamma) f(z)$
satisfying with the family of functions considered by references [3] and [4]
Setting $\delta=1, \mu=0, \gamma=0 \quad$ in the previous theorem, we obtain
III. Corollary

If an analytic function $f(z)$ satisfies with the inequality
Then $f(z) \in H_{1}^{\rho}(\rho, 0,1,0) \equiv F_{1}(\rho)$ which has been considered in references [8] and [9]
On putting $\rho=1$ in Corollary 3.4, we get
IV.Corollary

If an analytic function $f(z)$ was satisfied with the inequality

$$
\sum_{n=2}^{\infty}\left|\sum_{t=1}^{n}\left[\sum_{j=1}^{t}(-1)^{t-j}(j) c_{n} b_{t-j}\right] q_{n-t}\right|+
$$

V. Lemma

Let $f(z)$ is holomorphic function the family $H_{m}^{\rho}(\rho, \gamma, \delta, 1, \theta)$ if

$$
1+\sum_{n=2}^{\infty} L_{n} z^{n-1} \neq 0
$$

Where
$L_{n}=\frac{e^{i \theta}(\psi+1)}{2(1-\gamma) \cos \theta}\left(\frac{\mu+\rho+\delta(k-1)}{\mu+\rho}\right)^{m} c_{n}(\rho)$
$\left.|\psi| \sum_{i=1}^{n}\left[\sum_{j=1}^{t}(-1)^{t-j} e^{i \theta}(\mu+\rho+\delta(j-1))^{m} c_{j}\right]\left[\begin{array}{l}\alpha \\ n-t\end{array}\right) \right\rvert\, \leq 2(1-\gamma)(l+\rho)^{m} \cos \theta$
$\sum_{n=2}^{\infty}\left|\sum_{t=1}^{n}\left[\sum_{j=1}^{t}(-1)^{t-j} \frac{\psi+1}{2(1-\gamma)}\left(\frac{\mu+\rho+\delta(j-1}{\mu+\rho}\right)^{m} c_{n}(\rho) b_{t-j}\right] q_{n-t}\right| \leq 1$
$|\psi| \sum_{t=1}^{n}\left[\sum_{j=1}^{t}(-1)^{t-j}(\mu+\rho+\delta(j-1)]^{m} c_{n}(\rho) b_{t-j} q_{n-t} \mid\right.$
$\sum_{n=2}^{\infty}\left|\sum_{t=1}^{n}\left[\sum_{j=1}^{t}(-1)^{t-j}(\rho+j-1)^{m} c_{n}(\rho) b_{t-j}\right] q_{n-t}\right|+$
$|\psi|\left|\sum_{t=1}^{n}\left[\sum_{j=1}^{t}(-1)^{t-j}(\rho+j-1)^{m} c_{n}(\rho) b_{t-j}\right] q_{n-t}\right| \leq 2 \rho^{m}$
Then $\quad f(z) \in H_{m}^{\rho}(\rho, 0,1,0) \equiv H_{m}^{\rho}(\gamma) \equiv F_{m}(\rho)$ which satisfying the family of functions was considered by reference [7].
Putting $\rho=1$ in Corollary 3.3, we obtain.
VI.Corollary

If an investigative function $f(z)$ satisfies the inequality
$\sum_{n=2}^{\infty}\left|\sum_{t=1}^{n}\left[\sum_{j=1}^{t}(-1)^{t-j}(\rho+j-1) c_{n}(\rho) b_{t-j}\right] q_{n-t}\right|+$
$|\psi|\left|\sum_{t=1}^{n}\left[\sum_{j=1}^{t}(-1)^{t-j}(\rho+j-1)^{m} c_{n}(\rho) b_{t-j}\right] q_{n-t}\right| \leq 2 \rho$
$|\psi| \sum_{t=1}^{n}\left[\sum_{j=1}^{t}(-1)^{t-j}(j) c_{n} b_{t-j}\right] q_{n-t} \mid \leq 2$

Then $f(z) \in H_{1}^{1}(1) \quad$ which has considered in reference [9].
Now we will conclude derive The following Lemma to be used in next result.
$\left(0 \leq \rho<1 ;-\frac{\pi}{2}<\theta<\frac{\pi}{2}, \psi \in C ;|\psi|=1\right)$
Proof: It is easily to seen that the proof required as the similar method in the proofing of Lemma 2.1.
VII.Theorem

If an investigative function $f(z)$ was satisfied with the following condition:
$\sum_{n=2}^{\infty}\left|\sum_{t=1}^{n}\left[\sum_{j=1}^{t}(-1)^{t-j}(\mu+\rho+\delta(j-1))^{m}\binom{\eta}{t-j} c_{j}\right]\binom{\alpha}{n-t}\right|+$
$\left(0 \leq \rho<1 ;-\frac{\pi}{2}<\theta<\frac{\pi}{2}, \psi \in C ;|\psi|=1\right)$,
then $f(z) \in H_{m}^{\rho}(\rho, \gamma, \delta, 1, \theta)$

Proof: The proof follows immediately from the similar way in the proof of Theorem 3.1, we get
$\sum_{n=2}^{\infty}\left|\sum_{t=1}^{n}\left[\sum_{j=1}^{t}(-1)^{t-j} L_{j} b_{t-j}\right] q_{n-t}\right| \leq 1$ as previously
$b_{n}=\binom{\eta}{n}$ and $\quad q_{n}=\binom{\alpha}{n}$
The coefficient $L_{n}$ is as given in Lemma 3.6. It is easy seen that the result follows directly
$\left.\frac{1}{2(1-\gamma)(\mu+\rho)^{m}} \sum_{n=2}^{\infty} \right\rvert\, \sum_{t=1}^{n}\left[\sum_{j=1}^{t}(-1)^{t-j} e^{i \theta}(\mu+\rho+\delta(j-1)]^{m} c_{n}(\rho) b_{t-j}(\psi+1) q_{n-t} \mid\right.$
$\left.\leq \frac{1}{2(1-\gamma)(\mu+\rho)^{m} \cos \theta} \sum_{n=2}^{\infty} \sum_{t=1}^{n}\left[\sum_{j=1}^{t}(-1)^{t-j} e^{i \theta}(\mu+\rho+\delta(j-1))^{m} c_{n}(\rho) b_{t-j}\right] q_{n-t} \right\rvert\,+$
$|\psi| \mid \sum_{t=1}^{n}\left[\sum_{j=1}^{t}(-1)^{t-j} e^{i \theta}\left(\mu+\rho+\delta(j-1)^{m} c_{n}(\rho) b_{t-j}\right] q_{n-t} \mid \leq 1\right.$
,This proves Theorem 3.7.
VIII. Remark

Setting $\theta=0$ in Theorem 3.7 we get Theorem 3.1
The following result is due to $\delta=1, \mu=0$ in
Theorem 2.13 :
VIIII. Corollary
If an analytic function $f(z)$ satisfies the condition $\sum_{n=2}^{\infty}\left|\sum_{t=1}^{n}\left[\sum_{j=1}^{t}(-1)^{t-j} e^{i \theta}(\rho+j-1)^{m} c_{n}(\rho) b_{t-j}\right] q_{n-t}\right|+$
$|\psi|\left|\sum_{t=1}^{n}\left[\sum_{j=1}^{t}(-1)^{t-j} e^{i \theta}(\mu+\rho+\delta(j-1))^{m} c_{j}(\rho) b_{t-j}\right] q_{n-t}\right| \leq 2(1-\gamma)(\rho)^{m} \cos \theta$
.Then $f(z) \in H_{m}^{0}(\rho, \gamma, 1,0, \theta) \equiv H_{m}^{\rho}(\rho, \gamma, \theta)$.

## Acknowledgment

The author is thankful to the referees for their helpful comments and suggestions improving the paper

## References

[1] S.O. Olatunji and P.T. Ajai, "On Subfamilyes of Biunivalent Functions of Bazilivec Type Involving Linear and Salagean Operator," Vol. 92, No. 5, 645-656, 2014.
[2] A.T. Oladipo and S.O. "Olatunji, "On a Certain Subfamily of Bazilevic Function Defined by Catas Operator," Vol. 1, No. 1, 2011.
[3] O.K. Babalola and T.O. Opoola, "Iterated Integral Transforms of Caratheodory Functions and Their Applications to Analytic and Univalent Functions, Tamkang Journal of Mathematics," Vol. 37, No. 4, 355366, 2006.
[4] T.O. Opoola, "On A New Subfamily of Univalent Functions,"Mathematicae Cluj (36) Vol. 59, No. 2, 195200, 1994.
[5] K. Yamaguchi, On Functions Satisfying $\operatorname{Re} \frac{f(z)}{z}>0$, Proceedings of the America Mathematical Society, 17, 588-591, M33-356, 1966.
[6] Toshio Hayami, Shigeyoshi Owa, H.M. Srivastava, "Coefficient in- Equalities Familyes of Analytic and

Univalent Functions," J. Ineq. in Pure and Appli. Math. Vol. 8, Iss. 4, Art. 95 1-21, 2007.
[7] S. Abduhalim, "On a Family of Analytic Functions Involving Salagean Dierential Operator," Tamkang Journal of Mathematics, Vol., 23, No.1, 51-58, 1992.
[8] I.E. Bazilevic, "On a Case of Integrability in Quadrature of the Loewner-Kufareu Equation," Mat Sb, Vol. 37, No. 79, 471-476 (Russian) MR 17, 356, 1955.
[9] Ram Singh, "On Bazilevic Functions," Proceedings of the America Mathematical Society, Vol. 38, No 2, 261-271, 1973.

